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Topic:- Child Development & Pedagogy (CDP)

1) Claustrophobia is a fear of enclosed places. It is an example of : / Wﬁﬁtﬁﬁm AT RITHI BT Udh
ST 21 TUPT U 3SIE0T §:

1. Global Developmental delay / af%?ﬁ faemd

2. Obsessive-Compulsive Disorder/ S[IAI-SIASBRT fdbR
3. Anxiety disorder / 14 fd®dR

4. Autism / 3fTesH

Correct Answer :-
« Anxiety disorder / dTd fdR

2) In “heuristics,” the child is free to go for any kind of possible rules or ideas to reach the solution.

This rule is called as:/ “WE['J-I'Iﬁ? MY YoIrett” ﬁ,aﬁwwwu@aﬁ%ﬁﬁmmm%m
e 3ryar faeR 9 Gerdr @ 9d 8, 59 F1a| o) 1 S8 ST 82

1. rule of thumb/ &Iﬂlﬁﬁ@ﬁmﬂ =d 3 Yid)
2. differentiated rule/ faAfad fam

3. mimicking rule/ 3{JHU [GEE

4. cognitive rule/ BRIBICCATE)

Correct Answer :-

« rule of thumb/ FHIRIG AU (=d 3% )

3) Which is not the step of scientific method? /

frr=afeafaa # @ Si9-91 ag=re gomelt &1 =R T8 82



1. Experiment / AT
2. Interview / HI&TH R

3. Prediction / G@id™
4. Observation / 3fadlH

Correct Answer :-

o Interview / HI&Th TR

4) According Jean Piaget, children develop abstract logic and reasoning skill during ./
i fUmel & SR, & GRH 91 § 3Rfd ad SR a oI [deRid gl 31

1. Concrete operational stage / IETW AR

2. Formal operational stage / fIoaTRe WihaTdd Srawul

3. Preoperational stage / gd-Sfoharcdds Siat

4. Sensorimotor stage / Tadl IReb yTGIHICY( SATRIT

Correct Answer :-

« Formal operational stage / =T Aforaradd raw

5) A self - directed learning process is arguably the most powerful model for facilitating and inspiring individual,
group and organizational learning and development. It means learners ___ /

U W-Fe R St uftran, safera, argfee iR wre-Tars it ok fawra #Y gfaursg
. ¥3g 9 wfqaeel Aisd 81 59PT Addq ¢ & siftrmeal |

1. take responsibility for learning and become goal oriented / ST Pt orHERT T % 3R HW §-dl
gl

2. compete with others / §FR-|' & Ty faegef SRl % |
3. achieve the best scores / 33T URUITH YTt HdT %l
4. enjoy learning / 3{EATH &1 S AT

Correct Answer :-

« take responsibility for learning and become goal oriented / ST &} ARt AT § iR F’TW §-dl

6) In which stage of psychosocial development does the child feel shame and doubt? / HAIAFIA®
faer & frd @R A s @) o ok TdE WeqH giar 82



1. Preschool / Eﬂw
2. Adolescent / [P RTRTGRT

3. School age / ¥l 3G
4. Early childhood / =Tl STc bl

Correct Answer :-

 Preschool / Eﬂw

7) Proper sex education should be rendered at stage. / Sfra a1 fRren SAWRTUR
U &1 S 91fgel|

1. Childhood / dTecghTe]
2. Adolescence / TP RIRTGRIT
3. Adulthood / dYIh

4. Barly childhood / URTH® dTeddhTd

Correct Answer :-

« Adolescence / foreIRTERT

8) The ‘Hypothesis of Critical period’ was proposed by ./ ugayuf 3afd Y uReeur
& GRT IRaTfad &1 18 A

1. Helen KeIIer/%ﬁqW

2. Noam Chomsky/qvma'\lﬁ:\‘aﬁ

3. Bloomfield/ A Iead
4. Eric Lenneberg/ Q|§$ NEGL]

Correct Answer :-

e Eric Lenneberg/ Q|§$ NECL]

9) Who is credited with the concept of Intelligence Quotient (1Q)? / ﬁﬁ'@l (IQ)

P AYRUN FT 99 fry fear wmar 82
1. Theodore Simon / RIS HIgHA
2. Spearman / TR



3. Alfred Binet / 3fhs foq
4. William Stern / faferag we

Correct Answer :-

. William Stern / faferag e+

10) According to Piaget, intellectual growth occurs through adaptation to the world. This happens

gg_)rugh:/W%W,WWW$W%mmﬁm%|wm%mmﬁ

82

1. Absorption and Accommodation / S[TYNTT 3R FHS (Qaﬁﬂém‘ﬂ
2. Acquisition and Autocorrelation / JuTfey 3R a: REREL

3. Assimilation and Accommodation / 3TEHTCHRUT 3R FHO (THIHSTH)

4. Assimilation and Acclimatisation / STETITEHRUT 3R Wﬂ

Correct Answer :-

« Assimilation and Accommodation / STETTE U 3R JHSH (Qﬁﬁ@‘-?l:l)

11) According to Albert Bandura, the process that is involved in acquisition, organization and use of
information is called process. / 3eTe TG & SR, dg wfehar ot GERL & SfferRrgur, WreH
3R SuEhT # 2N gl 8, ™ AT w51 ST g |

1. Cognitive / TIMTIHD
2. Affective / THTAT
3. Self regulation/ ¥d AT

4. Motivation/ UUT

Correct Answer :-
« Selfregulation/ ¥ T

12) What concept of conservation focuses on the amount of a substance that exists? / HI&0T Cakank:|

Rrgia foplt icer uerd &Y aEn R Hfga 22
1. Weight / dgl4d
2. Area / &% d
3. Mass / ST
4. Length / 9T



Correct Answer :-
e Mass / gGH

13) What cognitive ability are children displaying when they attribute human-like qualities to objects? /

T PIH-Ht FFTHS &1 ST ¥ § 919 d &GS B A TON & Adod Hd 87
1. Egocentrism/x’rl_s"‘l-ﬂa('s?n@@\_rq)

2. Conservation / TR&0T
3. Animism / SI1gdTg
4. Object permanence/ 9] R

Correct Answer :-

« Animism / ST

14) Some children experience excessive anxiety at being away from home, even after a long period of
time. What might they be suffering from? / & T A I dP R A [43 A b arg i, R [34 G|
TR AARIP foar o1 sgHa &ed 21 3 fora & fifsa gt g 82

1. School phobia / ¥Hd WIfadT
2. Social anxiety / oI feidn
3. Conduct disorder / 3{TERUT fddhR

4. Separation anxiety / 3{¢TTd CARERI]

Correct Answer :-
o Separation anxiety / 3{¢Id CHREI

15) An example of self-report measures of personality is/ feid & STeA-fRute Sur &1 Udh Jqlerul

1. MMPI / THUHTI3E
2. Sentence Completion Test / AT U;quﬂ&‘l'UT

3. Rorschach Test / WW&‘WT
4. TAT / é'Qé'

Correct Answer :-

« MMPI / THUHATISMS



16) Intense mood swing is a characteristic of / GIES Hs g e &1 %:
1. Learning disorder / 3{{&TH 3f&fdar

2. Bi-polar disorder / %Qﬁ)f fapR

3. Conduct disorder / 3{TERUFTT fdhR

4. Anti-social personality / SIS Afdda

Correct Answer :-

 Bi-polar disorder / %ﬁ fapR

17) Which of the following best describes Maturation of a learner? / Fafafead g @ Udh Rremdf #t
URUE AT ST HaH BT qUH BT 52

1. Tt is a continuous process of individual development/ Ug HfaaiTd faer™ &t Ush dd I % I
2. It is related with cognitive capabilities/ I8 IITHD &Hd 3 I aferd %I

3. Specific environment is required/ fafRIy araTaRur BT awgehdl gl %I

4. It takes place at specific age/ o fafary Y g %I

Correct Answer :-

 Itis a continuous process of individual development/ Ug HfeaiTd faer™ &t Ush dd ufeear % I

18) Which type of memory takes special account of context? / oo ueR ot Wﬁf T &1 faxiy e
@l 82

1. Iconic memory / Eﬁ%ﬂ@ﬁ?{ﬁf

2. Echoic memory / Uﬁfﬁﬁ@{ﬁf
3. Episodic memory / PISIICs Fﬂﬁ[
4. Sensory memory / Faat Fﬂﬁ

Correct Answer :-

» Episodic memory / PISIICs Fﬂﬁ[

19) Students who disturb others in a classroom are likely to have type of learning style./ Eli

gﬁﬁ&nﬁgﬂﬁﬁwmﬁmw UPR B JGA 3t Al g1 B TUTGT gl
|

1. Kinesthetic/ TTfagdal (?ﬂiﬁ@ﬁ@
2. Tactile/?qﬁ:ﬂqéaelﬁﬂ)



3. Auditory/ 44Ul

4, Visual / €9

Correct Answer :-

« Kinesthetic/ Tfcda! @Eﬁ@ﬁ@

20) Who carried out an experiment on memory involving nonsense syllables? /ﬁﬂ:ﬁ'\“{ﬁf WRUTD AT
T, foras soar wregizr i 42

1. Ebbinghaus / Q'W

2. Atkinson / Q?mq
3. Posner / TR
4. Calkins / BTAfGY

Correct Answer :-

» Ebbinghaus / Q'W

21) Who proposed the concept of zone of proximal development? /ey fae & ?33[ P AGYURT
BT UTa forea T@m?

1. Abraham Maslow / 3{STgH T
2. Lev Vygotsky /g Eﬂ%"w

3. Carl Rogers / CAREUSE

4. Albert Bandura / 3feee E\I{Ugﬂ

Correct Answer :-

« Lev Vygotsky / Td aTSTcqah!

22) The spinal cord develops earlier to the heart. This is because of the operation of the following

tendency. / 31¢ @1 33! T5T | T4 AR gidl 31 T8 w1 wgfv & Tame< & sRUT glar 8:
1. General to specific / AT ¥ fARIP &

2. Cephalocaudal / RIhaIBESd

3. Proximodistal / MIGATHIT S

4. Part to Whole/lmﬁww (Cﬂé@@ﬁ)

Correct Answer :-



« Proximodistal / FIIHIISEA

23) The following is an example of a secondary reinforcer. / mmmﬁw
SRR 3|

1. Ice cream / Gﬂgﬂﬁq
2. Dress /W

3. Money / 4

4, Juice /¥H

Correct Answer :-

e Money / Y1

24) Maladjusted children are generally seen in / HTHIId: Wﬂﬂﬁrﬁ T uﬁé‘*@r SITd %
1. Broken family / foeR givarR &

2. Rural areas /ITHIOT &1

3. None of these /3_'{&[ I aﬁs‘ﬂﬁ
4. Poor family / TRig uRaR

Correct Answer :-

» Broken family / foeR gfivarR &

25) One learns to use one’s muscles and acquires a skill due to: /
TS i, AU ST STIRT HIAT HIEdT 7 3R §HP HRUI TP DI YT BT 5:
1. Maturation /
URUSdd
2. Exercise /
S
3. Learning /
3fferTH

4, Parents’ force /

SYHTID] BT TR

Correct Answer :-



e Maturation /

26) During the first half of the 20th Century, students, those identified as
having special needs, received few or no special services in the schools.20 / af

AT & U SHIG & SR, B, o) ugarH faiv smawgewdan
@A Tl & U d 31 T8 A, 3% Wl # $O AT HIs 92 Jar g1 fredt 4

1. Above average / 3d T 3rfh

2. Exceptional / SHTYRTI

3. Mentally retarded /WW@[W
4. Poor /Tlﬁa

Correct Answer :-
o Exceptional / 3THTURUI
27) CANCELLED

VARK model of student learning was proposed by: / ©TA 3IfATH PT qTh ATSA 3?%7 [-1Kd}
warfad fobar war or:

1. Kohlberg /a'ﬁ_@'a_@"f

2. Neil FIeming/:ﬁaqﬁﬁ"T
3. Piaget / o

4. E. Erikson / §. 3Rag

Correct Answer :-

e Neil FIeming/:ﬂatﬁﬁi"T

28) CANCELLED

During the emergence of language, the ‘jargon’ period is present during / HT4T FIFEA D a?'F-l, “RleqolTel
T ARTA” Safy §9 SR gielt &:

1. Nine months to one year / T A W Up N
2. Birth to three months / 57 ¥ F A& A

3. Three to six months / d9 T - q‘bpﬁ



4. Six to nine months / @: I A1 I[E,Pﬁ

Correct Answer :-

« Six to nine months / F: A A Iléﬁ

29) Which of the following is the best way for parents to support and help children cope with

failure? / FFraferf@d & @ -1 ATd1-fUdT gRT 9= B SRIPadr 9§ fuea & gudH 31 s
ITP! HEE B BT AT 3BT TRIPT 872

1. Create a comforting environment for the child to engage in another activity to forget their failure / IAP!

HA B YA & T = B! foredt o TfAfafy & Rd A 8 U SRS GRART HT FHH{0 ST

2. Listen, empathize, then focus on opportunities to learn, not abilities / {1, Wﬂﬂ%{ W], i
R o TR TR & diad BT, 7 fob AT W

3. Create an environment for our kids that shelters them from potential failure or disappointment /

30 I & forw v gRawr o1 fRafor o ot I8 AuTfad 3w adT a1 AR 3 sar |
4. Push kids beyond their capabilities / Sl P 3! &HATS F TR b1 T G HRAAT|

Correct Answer :-

« Listen, empathize, then focus on opportunities to learn, not abilities / g1, Hslj‘ﬁ[ﬁ T, i

TG & SR TR A dhigd BT, 7 fob eiarst i)

30) Inquiry approach method develops the ability of learners for / T&daT® ef¥®Ivr fafdr I Rrenfiay #t
= & fore eryar &1 Qo™ T 8:

1. Using the experience of a teacher/Wﬁ[&‘Wéﬁ ﬂlﬁmmﬂml

2. Assimilating more information in less time /Wwff 3HYH BRI B I HRATI

3. Experimentation /WT

4, Maximizing verbal Iearning/m SITH BT I=dH THT db del-l

Correct Answer :-

« Experimentation /W"T

Topic:- General Hindi (L1GH)

1) nyfe w1a ¥ gt gfvar 3t srferawr Ry avg oo o I g3 € 39 Afievur a1 /iaageRE $ed 8
ISTERVT & R AT IaTUe B AIfSTg | AISHINITE BT ISP ARG H §1 59 HUI & ATGCAIR & $ 34
YR 3R 31 &3 =0 F 91a &1 WIS Iaive & Arvedsr T gfar A swuma ) o 81 smifve &1 %
HYeX TP A= ITeXVI 5l TPHdl 81 BIS Bl HR IA8 A §Id1 ¢ 3R A93 | g+t R faspt & ford &5 o=
STt 81 39P Sarar 59 HUT & R s fedt omg 3= ¥ a9d 817, Wi e f5lY siR 3w o, @nge, =g,



IR frlt o= 3= & 9919 8171 SR & AU [l Urd SreT SenT I §RT WIS Hie 1 Jwrs f6d od &,

12 TP 1Y SisH? PR 7918 wrd! 81 37 9t fhar-wara) @ gt g & AomR & sraer der 8a &1 399
T gfrar &Y srferaw yurfaa gt 81 oy off fonfY e It a1 Tar & IR A W Gwd § et Iare

g & faftra ur A ghar 81 39 Ay wR Y srdogawnsit & e Rlkar &1 9= gar 81

= AT fp foreft Su-t &) F1E FH HIGT 81 ITSP ol ugan fabed grm % 3rua 31 7 € 1 Hearn
WA o181 39S anTd Sif¥e Smuft| pTen fawew g fb 39 1w ) fanelt ¥ =1 # FHramar 9y, wigl sq@!
ARG S AT g5 91w g fF 315 ft st g fwer &) gft 1 uRa, wafdmn, 99 ok aga d v
T $U P W IUAH 3 3R 39 320 A Hoigr i T A frer ol 81 399 SuTeH &) o &4 & il 3 3R
I Bt g% YATET BT 3 | ST 9T 31T HIg IR Wiled &, df STP $S UIe WA a1 argarq o
9 814 8, MR HRG | 491 31T @ iR JToedar sMmfet J 3rmar 1 sifaw Iure 39 =1 # a7d1 @ Wel 39
AT ST 81 8 TR Pt TATN: e NG TR & SATGIaR TTeh! + [hat Iare # Tile R g ik agf s@
F WIS U 811 B GHTGAT 81, A FHT DY AT f9og de@ & ford oI5 7 HIg TioA1 a9+ vt fsdt
T8 IR H 712 UTEh! B! AR Hd ] Te18 o Tl 31 3T & SR H fay &) pat mard) 1 v T
;ﬁmmmﬁm%l@ﬁﬁﬁmﬂﬁwﬁﬁm%ﬁﬁﬁwmﬁmm
34 [

IUT TR P UgHR A2 IR Y U= $T Ik Farsy|
T: TSP NITTE T YA HEl 82

1. 3R

2. gt

3. %

4. gealt

Correct Answer :-

2) nyfre Fra § gt gfrar &Y srderaw fora v smuw § 9t g5 § SR Asfiavr a1 weiaege $Ed §
ISTEXUN & ford TSI Hi AT | ATGHNITIE BT gSPIeX SHUNDT T 81 57 HU & ATHAIR & $ 30
YR 3R 31 F% o201 F I1d & | WISHIAiTe F Ardedsr TRt giar A swaura fHa o §1 smifveT &1 %I
X TP AT ITEXV 6l APl 81 BIS B HR A78 A Fd1 § 3R I3 | o+t w1 fast & R &3 =i o
STl 81 SHP SeTal 39 HUT & AR aied fredt g 3w & a4 817, Hie dee [Pt ek 3w #, wrge, R o
IR fredt o 3= & 991d 81711 SR & AT T UTd SrenT ST 48R §RT WIS Hiex &1 Iwms 5 9id &,
2 U 1Y SisH? PR T918 wrdl 81 37 9 fhar-wara) @ gt gfan & AomR & srawr der 8a &1 399
T g #1 srferawr wwnfaa gt 81 oy oft el 3y Ieute ar VT F IR A Wi wwa ¢ et Iared
g & faftra url A ghar 81 399 Ay wR Y srdogawnsit & e Mlar &1 9= gar 81

A AifoTe fr foreft Su-t &) FIE FH HIGHT 81 ITSP ford ugan fare gnm % 3rua 31 7 € 14 Hearn
ST SIgT S9! AnTd 3if¥e Smuft| 3nTen fawey ghm fh 39 e &) forelt ¥/ 21 & PRarar 9, Sigl 9@t
ARG B4 IRRT | a5 91 g fF 315 it st g fAwer &) gl uRa, wafdmn, 99 ok aga d v
AT HH BT W) 3Ty § 3R 39 320 H Aoigr it I # e o &1 S99 ITeT &) o H1 g1 91l 3 3R
FHI B IgaR ATHT a1 8| ST F 3T P13 HIYeX TG &, d SqP B U TARMT a1 argar o
9 80 &, AW HURA § 94971 g1a1 @ 3R Aiveaar el @ airar 21 sifaw Iaurg 99 3w § g @ ol 59
AT ST 81 78 TR Pt TATN: e NG TR &b SATGIaR TTeh! - [hat Iae B @il R g ik g s@
F WIS U 811 B THTGT 81, @ FHT I YT foog g & ford 15 7 HIg FioAn a9+ vt fdt
T SR # 78 U] ) dUR o fIp 9e18 o Thdl 81 31MS & SR | fay &) pa ard) &1 v uTs
Eﬁwiﬁ:;nﬁfmﬁmﬁlﬁﬁﬁvﬁmmﬁsﬁ‘wﬁaﬁmﬂ%aﬁﬁﬁwmaﬁw&aﬂ
R [



ST TR $I USH -1 T T Y= T IR qarse|
U: HUFAGT YT IUTET TR HH HI9 b fold 1 Hedl 82
1. O8] el JTd IR 9 T 81 9l |iel §Teh @

2. GOIGRI &1 Be! ddl §
3. PHIA AT 8
4. T[T & THAT Helt ©

Correct Answer :-

. e} e et 3R Y T 8 98T HIel S @

3) 3yfre sra A T gfrar Y srferawr g @ oo # 9 g8 & 3@ Sftewur ar WiaargaH $ed €
IaTeXUN & o IS INITHE H! AT | AISHIITHE BT gsHIe RS H 1 39 $UN & ATHAR & $ 3
YR 3R 37 H3 320 § §9Id § | AIShIave & Airedsr Tt gf-ar § swaura 63 oird 81 srfve &1 vis
TeX TP A= ITEXU 61 TPl 81 BIS Bl HR AAS A IId1 ¢ 3R A3 | g+t P1R fast & o &5 I o
STl §1 3P SraTar 39 $U- F FraR aied fedt omg 3w & 7 817, i e it sk awr o, @mse, R g,
R fareft o 3= & 9 @11 BR & AT Tl UTd SrenT SrenT dER §RT WIS Hier &) s frd oid &,
R TP A1y SieHY R F1S et 71 37 it Frar-waral @ ot gfan # AR & SR Ter 81a €1 v
T g @t srforavr gurfaa gt 81 3y oft fpeft o=y IeuTe 91 A9 F IR H WY AHd § et Iare
g & fafira urnt F ghar 81 39 Ay R Y srdogawunsit & e Al &1 w1 gar 81

A= AT fr foreft Sut &) FIE FH FIGT 81 IS9P o ugan fawew eRm & 3rua 31 7 € 1 Hearn
ST ST8T S9! AnTd 3if¥e Smuft| 3nTen fawey ghm fh 39 »1H #) forelt ¥/ 31 & HRarar 9, wigl 9@t
aNTa B4 AT g 9w g fF 315 it st g e &) gl uRa, malkm, 9 iR agaa A w1
AT HH BT W) Iy § 3R 59 330 H Aoigy Wi I § fire o &1 S99 ITe &) ad HH §1 A1l g 3R
FHI BI IgaR ATHT a1 8 | TARM F 3T P13 HIYEX TG §, df SqP O U TATRMT T argar o
T 814 §, MR HIRA § 941 81T @ iR Toedar 3mf¥ert ¥ 3rmar g1 Sifaw Iure 39 ¢ # 9771 @ Wel 39
AT AT | 718 SIOIR B aelr=n: i R IR & Sa1eiar At A {6t 3aure & @il frar 8 sik agr s@ =
F IR WU 811 B UTGHT 81, @ FH B AT faeg 9o & o) #1g 7 HIs Ao 941+ vt fpeft
T 9OIR ® 78 UTed] ) dUR o fIsp 9g18 o Ahdl 81 3 & SR | fay 3t pa srard) &1 v DuTs
fowar 99 3R WRA & Tear 1 ¥ A &t Wt St arftres farsdY aredt @ 98 39 & Heayul SeIR) ®1 FerRaiEs
T8 R @il

ST TN DI USHT A1 IS Y YR BT IR 9a1se|

UR: BIS R HU U1 R UIEH T g RIH W 4701 32

1. 370 q PIs 78

2. S-S RYTH

3.8l

4. T8

Correct Answer :-

o S-S RYTH



4) yfe Hra & T gfrar ot srdaawt fore ave o ¥ 93t g3 & 99 afieRur a1 e arg et $Ed
ITTEXUN & o TSI B AT | ATSHNITHE BT gSPIe SUNRDT H 1 59 HUN & ATHAR & $B 3
YR 3R 31 &3 =0 § a1d &1 WIS Iaive & Arvedsr Tt giar A swuma 5 o €1 smifve &1 %
TeX TP 3T ITeXV 6l APl 8| BIS B HR 998 A Fd1 & 3R 93 & -1t w1 et & R &3 3= o
STl & 1 39 SraTaTr 39 U & R sy fpalt g 331 & 991a 817, Wie dee fadt siR 3w, amge, Rar =g
R freft o 3= & 991d @111 R & AU T UTd SrenT ST dER §RT WIS Hier &1 Jwms fhd 9id &,
R To 1Y SieHT SR T1E St §1 37 Goft fbar-saral @ ot g # Aok & erawR ter ld €1 59
T g~ 3t srferawt gwnfaa gt 81 oy oft it 3= SeuTe a1 War & IR F A g ¢ et Iared
g ran & fafira urTl & ghar 81 399 Y R 3 srdogawnsii & v fAlvan &1 w1 gar 81

AT AR % et it &Y B B0 e 81 9 ok gar fased ghm % o= 3=1 & € &10 wearn
R WgT 59! anTd i Mt SrTar faswed ghm f 39 w1 & fhd} U9 =1 F FHrawn WY, SEl gadt
ARG &4 IR g5 91w 3 fF 315 ft sroeht g feer &) it uRa, walkmn, 99 ik agaa A v
AT HH BT W 3Ty § 3NT 39 320 # woigy ff I # e wira &1 S99 IcuTe &) @d $4 81 91l 3 3R
I BT dgaR YATHT giaT 2 | SHRA TG 3MY B3 e Wiled 3, df ITP $© UTE HARMT a1 argar o
1 813 ¥, TR YR & 91 g)dT @ o Wiredar SRkt & orar 21 Sifew Iare 39 &9 # a7 § o6l 54
AT ST 81 78 TR Pt TATN: e WG TR & SaTeraR TTedh! - fHadt Iae & @iie R g ik ggf s@
& TSR WU g1 Pt HUTFAT g1, A ST D1 AT I T & R IS 9 B Ao a1 S| fsdt
T IR § 713 UG B AR B (9] T¢18 o Tbdl 31 3TN & R | fay B $a ardl &1 v AT
SﬁwmmﬁmélQﬁﬁﬁmmﬁaﬁwﬁﬁmﬁéﬁﬁﬁwmaﬁwm
E3 |

IUYT TR Bl UGHR A IS 7Y U $T Sk 9a1s¢|
UL: B8 &1 BN {59 we § 9941 82
1. 9

2. dlaRyd
3. %8
4. qIfRiTTeq

Correct Answer :-

5) 3nyfe Hra A Tt gfrar ot srdfegawt ra we oo A Jt 5 8 9 Asfievur a1 wieageRH sgd B
ISTEXUN & o TSI B AT | ATGHNITIE BT gSPIe SHUNDT H 1 59 HU & ATHRAIR & $ 30
YR 3R 31 F% o= F I1d ¢ | WIS IAiTe F Ardedsr TEI giar A swaura fHd o §1 smifveT &1 %I
X TP 3T ITEXV 6l APl 8|1 BIS B HR A78 A Fd1 & 3R I3 & o+t w1 fast & o &5 =i o
STl &1 3% 3raTaT 39 ST P AR sy fadt o 3w # g4 811, Hie doe faedt ofik 3w /, wmge, v g,
IR fredt org 3= & 991d 81711 SR & AT T UTd SrenT ST 48R §RT WIS Hiex &1 Iwms fhd 9id &,
2 TP 1Y SsHR PR 7918 wrdl 81 377 9 fpar-wara) @ gt gfan & AomR & srawr der 8a &1 399
T gfrar #1 srferawr wunfaa gt 81 oy oft el 3 Ieutg ar War F IR A Wi gwa & oraeT Iareq
g & faftra urn d ghar 81 39 Ay wR Y srdogawnsit & e Mlar &1 9= gar 21

AT AR % fft it B HIS B0 Fearn 21 39 Rl ugar fawed ghm % sroq =1 & € w1 wearan
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Y I5oqd SRI DI BT
A A ST ST
DI TAD § 9l THa?
AHF TG ARI A Y

DI GHSA § Ul GHGH?
T T 8 4 g

3T TR BT WRT G
Ul UR, Bal R, G
¥ gu e & A

93 HA AT TET 8

P9 g=h # gg Sarell?

T IUaA A STt @

e raraeh fArTet

<ft gYa, 37 30 Bl ;i
STl H WY R A 3152
@t T R PR #v
9 R HiIdl T g1 |
ST URIIR $1 UgHR 19 TR 9F a1d WA HT S 93¢
UR: HEl GH ATAT o1 BIg Al 41U FATh? Hea-HalY fearelt 71 3e1 82
1. gl o1

2. Wd-GfergHi #

3. -3 H

4. IT-SRTET |

Correct Answer :-



24) T I R AR EE
3 e a1 afeai
DI A T TR

Y I559d ERI DI BT
A A ST ST
DI TAD § 9l THa?
AUF AR ARI G Y

D GHDd § Ul GHGH?
T T 8 14 gt

3T TR BT HRT WSIHT?
Ul W), Bal UR, T
foaR gu v € A

TS AR AR

B =it A g7 farelt?
FASUGAIH T &l §

o raraeh fArTet

i BYT, 3 31 Bl B
STl 7 WX W W 312
! AT frrE Fra =
$ W Ffad1 T §913|
SUYa UiR Y UgdR 1Y U WF aTd U= P Ik a1y
W: T-531 U WR Hidl &1 afsdl [ 9 3 H§T 1 52
1. 3G &

2. 4 @1 fopron &

3. a9l &

4. I Bl

Correct Answer :-



25) IR AR & E
I fpam At #t afear
DI I WP TR

A Iooad gRI B HRAT
T A ST ST &
DI TADB § 9l THa?
U P TR AR A Y

DI AP ¢ 91 GHGH?
T T 8 P4 gl

3T TR BT WRT G
Uadl W), Bl U, T
¥ gu Taq & A

TS AR AR

P Gt A ag Sarett
FASUTAA AT & 7
feam uraett fARed?

<ft gYa, 37 30 Bl ;i
JoTelt F WR R A 312
9! MY FRE R #=
1 IR HIId1 TP 15 |
ST U= B TgHR 19 TR 9 a1d U HT Ik 13T
UH: 4 & 5 ARI DI g 3N Hd gHPd 62

1. giguA forg

2. qHaH
3. Uiy ferg

4. TaTegA forg

Correct Answer :-

26) CANCELLED



YFIE H1a & T gfrar ot srdfarawt fora ave oo § 3t g3 & 99 afiewur a1 e argeiRE $Ed
ISTEXU1 & o TSI B! AT | ATSHNITHE BT gSPIe NG H 1 57 $UN & ATHAR & $ 30
YR 3R 31 &3 =0 § 91d &1 WIS AT & Arvedsr Tt giar A swuma 5 o €1 smifve &1 %
TeX TP 3T ITeXV 6l Pl 81 BIS B HR 9798 A g1 & 3R 93 & -t w1 At & R &5 3= o
STt & 1 3% SraTar 39 U & R sy fpadt g 3% & 991 817, Wie dee fadt sk 3w, @mge, R oy
R freft o 3= & 991d @111 R & AT T UTd SrenT SrenT dER §RT WIS Hiex &1 Jwms fhd 9id &,
R To 1Y SieHT SR T1E St §1 37 Goft fbar-waral @ ot g # Aok & erawR ter gld €1 59
T g 1 srforawt gwfaa gt 81 oy oft it 3= SeuTe a1 War & IR H A gwd ¢ et Iared
g ran & fafira umT § giar 81 599 3y wR oY srdogawunsii & ureR fAlRan &1 o= gar 81

T AR % et it &Y B B0 Far 81 39S ok gar fased ghm % srue 3=1 & € 10 weamn
R WgT 59! anTd i Mt SrTar fadwed ghm f 39 w1 & fhd} ¥ =1 H FHrawn WY, SEl gudt
AN $H RN | I5 AT § 7 315 +ft vt gk fawey &t gt uRa, w7k, 99 ok argam & o=
AT HH BT W) 3T § 3NT 39 320 # #oigr ff I # e ot &1 S99 IcuTe &) @d $9 81 9rdl 3 3R
I BT dgaR YATHT giaT 8 | SHRA T 3MY B3 e Wiled 3, df IUP $© UTE HARMAT a1 argar o
1 819 ¥, TR YR # 91 81T @ SR Wiredar SRt & omar 21 Sifew Iare 39 o9 # a7 § o6l 34
AT ST 81 78 TR P TAT: e WG TR & SATeraR TTeh! 1 fHat ane & @il Rk g ik ggf s@
F TSR WU g1 Pt HUTGAT g1, A WL D1 AT I T & R/ IS 9 B G a1 S| fsdt
T IR § 713 US| DI AR B (9] T¢18 o Thdl 31 3T & R | fay B $a ardt &1 v AT
SﬁwmmﬁmélQﬁﬁﬁmmﬁaﬁwﬁﬁmﬁéﬁﬁﬁwmaﬁwm
E3 |

ST TR F UgH -1 T T Y= T IR Jarse|

W= fr e 3 TRrn @) gihar & gav ur @ S &1 w1 fear?
1. g =c

2. UATHT A8}

3. W 8%

4. Red &¢

Correct Answer :-

. ewp e

27) CANCELLED

3y o1 § it g 3t erfarawit fory ave omuw ® 92 g3 € 99 afievur a1 /e arsaRE $ed 8
ISTEXUN & o TSI B AT | ATGHITHE BT gSPIeX SUNDT T 1 57 HU & ATRAIR & $ (T
YR 3R 3= HF =0 H 3974 & | AIshate & Airedsr T gf~ar ¥ swaura 6 omd 81 smifve &1 Bis
TR TP 3T ITeXV 6l APl 8| BIS B $R A78 A Fd1 § 3R I3 & o+t w1 At & R &3 =i o
STl &1 39 3raTaT 39 ST P AR sy fadt o 3w # 9994 811, Hie doe faedt ofik 3w /, wmge, v =g
IR frlt o= 3= & 9999 8171 R & AU [l Urd SrerT enT ISR §RT WIS Hiek ol TS f6d o &,
2 TP 1Y SR R 7918 wrdl 81 37 9 fhar-wara) @ gt g & IomR & sraer der 8a &1 399
T gfrar &Y srferaw yurfaa gt 81 o off fofY o= It a1 Tar & IR A W TGwd § e Iare
g & faftra urit A ghar 81 39 Ay wR Y srdogawnsit & wreR Al &1 9= gt 81

AT AT % feft it &Y HIE B0 Fearn 21 39 Rl vgar faswey ghm f oA 3=t & € w1 weaman
W1 WET S9! AnTd AfU® Mt rTar fadwed ghm {6 39 w19 & {5} U9 =1 § FHramn WY, SEl gaat
ARG HH AT a5 91w g fF 318 it st g fwer &) it uRa, wafdmn, 99 ok aga d v
T $U P W IUAH 3 3R 39 320 A Hoigr ff T A frer ol 81 399 SuTeH &) o &4 &t il 3 3R



P Bt dgaR YATET BT 3 | AR 9F 3ATY Py IR Wiled &, d SUP $S UIE TARMT a1 arga o

1 819 ¥, TR YR & o1 81T @ o Wireda SRt & et 21 Sifew Iaure 39 &9 # & § o6l 34

AT ST 81 2 TSR B TaT=T: fe W TR & SaTeraR TTedh! 1 [Pt Iae & @i R g sik gt s@

P WG WU 319 Bt HUGAT 81, a8 SHAT B YT fae—9 ge@ & ol S5 7 FIS aerr g9+ vt | Bt

T IR § 713 US| B AR B [q] T¢18 o Thdl 21 3TN & R | fay &Y $at Mardl &1 v TS

%ﬂiﬁ:ﬂ;ﬂﬁ}rmﬁm%lﬁﬁﬁﬁmmﬁaﬁwﬁaﬁmﬁ%ﬂgﬁﬁwmﬁﬁwﬁﬁ
E3 |

ITYe TR B! TSP AR U Y YR BT IR ad13¢|
U: 3% 3= # 3941 UTq T Hufar o r a4 752
1. 3R TY

2. JRIU Y-t

3. SR HUHI

4. YR Ut

Correct Answer :-

28) CANCELLED

AYFIF H1a | T gfrar ot et forg aie o ¥ 93t g3 & 99 AT a1 TaedrgeiRE $gd ¢l
ITTEXUN & o TSI B AT | ATSHNITHE BT gSPIe UNDT H 1 50 HU & ATHAIR & $ 3
YR 3R 31 &3 =0 F 91d &1 WIS IaiTe & Arvedsr TRt girar A swuma @ o §1 smifve &1 %
TR TP 3T ITeXV 6l APl 8| BIS B HR A78 A g1 § 3R 93 & a1t w1 st & R &3 = o
STt &1 39P Iarar 39 HU & R g fHedt omg 3= ¥ a9d g1, Wi dee f5dt siR 3w 1), @rse, &g,
IR frlt o= 3= & 9999 8171 SR & AU [l UTd SrerT SenT IR §RT BIS Hie o1 Jwrs {6 od &,
R To T1Y SieHT SR T91S St §1 37 Gaft fbar-waral @ o g # IR & erawr ter la €1 59
T3t g~ 1 srforawat gwifaa gt 81 oy oft it 3= SeuTg a1 War & IR F Hig gwd ¢ et Iared
g ran & fafira umT & ghar 81 599 3y wR oY srdogawunsii & ureR fAlRar &1 o= gar g1

I AT fb foreft SU-t &) B FH HIGT 81 ITSP o Ugdn fabed gRm % 3rua 321 # € 1 Hearn
ST 8T 39! anTd Sif¥re Smuft| srTen faweu gh  fh 39 1w ) farelt ¥/ =1 # HRamar WY, Sigl 9@t
ARTd ®H A g 91w @ f ®i5 ff e g fAweu & gl U, gaflkmn, 69 ok agae # v
AT HH BT R U § MR 39 320 # woigr ff I # e wira &1 S99 IuTeT &) od $4 g1 91l 3 3R
FHH! B dgaR TATHT g1 3 | SARM I 31T HIS IR Wiled §, dt 3P $S Ul TARMT a7 argar o
9 819 €, TR HRA § 911 a1 @ 3R Twedar fet & omar @1 ifad Icure 39 321 § a1a1 @ wiei 39
AT ST 81 78 TR Pt TaTN: e WG TR &b SaTeraR TTeh! - [Hat Iare & @il R g ik g s@
P WIS U 811 B FHTGAT 81, A FHL Y YT foog de@ & ford 15 7 HIg Fio=1 a9 vt fosdt
70 IR § 72 UTEh] $ AR Hd ] TeTS o Tl 31 31T & SR | fay &Y pat mard) o1 v TS
Sﬁwﬁ:ﬂ;ﬂﬁgwﬁwélQﬁﬁwﬁaﬂmﬁaﬁ‘wﬁﬁmﬁ%ﬁﬁﬁwmaﬁwm
R |

SULT T $ TGP A2 TS T YT PT IR AR
WRH: YRA W FT UIYT 3= # uger?

1.9

2. AT



3.
4. Riew

Correct Answer :-

29) CANCELLED

Y e § g giar Bt srforaw R ave 3o A 9t §¥ € 99 Afievur a1 wieagetH $Ed g
IaTETUN & ol ISP IITHE HI AT | AIEHITH FT gSHIe RS A 1 39 $UN & TR & $B 3
YR 3R 31 F% o0 § Id ¢ | WISHIAITE F ATedsR GEI giar A swaurd fHd oird §1 SmfveT &1 %I
TeR U 30 ISTeXUN 81 THdl g1 IS ®1 PR A78 § g1 § 3R A8 # 7+ *1 At & fod 8 =i o
STl 81 3HP SaTar 39 HUT & R st faredt orma 3w ® 99 g1, Hie S fpeft sk 3w #, wrge, R =g,
fiR? fdt ora 39 A 5919 81| R & THT Y UT 3T el I8 §RT BIS HieR &1 WS fhd o1d §,
12 TP A1y AP FR T18 A1t 71 371 Wt Fobar-wara) @ gt gfan % A9mR & Srawr A1 89 71 39w
T g F1 srderawr wvifaa gt 81 3y oft it 3 Ieute am VT F IR A Hi 9w & T Idred
g & faftra urnt d ghar 81 399 Yy R Y srdogawnsit & wweR Mlar &1 9= gar 81

T fifore f farsdt dut 3t FIE w18 HRamT 81 39S o ugan fawew g1 for srua 31 A € 19 weamn
ST STgT g9 AnTd 3if¥e Smuft| nTen fawey ghm fh 39 1w &) forelt ¥ 31 # FRarar 9IY, Sigl 9@t
ARG B4 IR a5 91 g & 315 ft st g fAwer &) it uRa, wafdm, 99 ok aga & o=
AT HH BT IR Uy § 3R 39 320 # Aoigr Wit I # e o §1 S99 IUTe &) &d HH §1 91l g 3R
FHI B IgaR ATHT a1 § | FARM F 3T HIs HIYEX TG &, d STP O U TARMT T argar o
9 8 &, MAWR URA § 497 81a1 @ 3R Aiteaar rfvet @ amar 21 sifaw Iaurg 39 3w § aaT @ ol 59
AT ST 81 0 TR Bt TATN: e NG TR &b SATGaR Teh! + bl g B @il R g ik g s@ =
F WIS U g1 B GHTGT 81, @ FHT I AT f9og g & o $Ig 7 HIg FioA1 a9 vt 1 fdt
T SR ® 78 U] ) dUR o fas 9g18 o Thdl 81 31MS & SR | fay 3t pa rard) &1 v DuTs
aniﬁ;r;nﬁjmﬁmﬁlQﬁﬁaﬁmmﬁsﬂ\wﬁaﬁmﬁ%aﬁsﬁﬁwmﬁw&wﬁr
R |

IUT TR P UgHR Y IR T U= $T I} Farsy|
T: UIYTE &= & 1T i WRH @A 31 78 o 772
1. for et iR &t

2. TTH Y IS TaT

3. TS feaT IR grd

4. 1St SR st

Correct Answer :-

. T feget siR B

30) CANCELLED

yfre o1a d i gfrar Bt srderawut R ave omuw # I g5 & 9 Afiexur a1 WiaagoRH ed g
IETERVT & o AT IaTUe B AIfoTg | ATSHINITE BT ISP AR # §1 59 S & ATGCAIR & $ A4
YR 3R 31 &3 =0 F g1a &1 WIS IaiTe & Arvedsr T gfar A swuma 5 o 81 smfve &1 wis



TIeR U 30 ISTeXUN 81 THdTl g1 WIS &1 PN A78 W g 8 3R T3 # a1 *1 At & fod +3 =i ao
ST €1 39 ATar 39 HUH & R iy faasdt o 31 o 5994 817, die dee feft sik Sxr &, wmge, R g
iRz f<dt ora 3w A 5919 81| R & U Y Ur 31T SrerT I8 §RT WIS HieR &1 Jwrs fohd Td §,
R To 1Y SieHT R T1E Sret ¥1 37 it Fbar-saral @ ot g & IomR & erawr ter gld €1 594
gt gferar &t srferaw yutfaa gt 81 oy off fondt 3= Ieure a1 Tar & IR A | A@d § Rra®T Sare
g & fafir e o giar 31 399 Ay wR 3t srfagawurelt ® e ket 1S glar 21

= AT fr foreft Sut &1 SIS FH T 81 IS9P o ugan fawey eRm 6 3rua 31 7 € 19 wearn
ST S8l 39! anTd 3if¥e Smuft| nTen fawey ghm fh 39 1w +) forelt ¥/ 21 # HRarar 9, Sigl 9@t
NI w4 AT T 91w 3 fF 315 oft st g e &) gt uRa, malkm, 9 sk agam A v=a
AT HH BT W Y § 3R 59 330 Auig Wi I § fire oI &1 99 ITe &) ad HH §1 A1l g 3R
P Bt g% YATET BT 3 | FARAA 9T 3ATY Py IR Wiled ¢, df STb $S UIE TARMT a1 arga o
T 213 ¥, TR HRA § 991 8141 @ 3R Tiredar srifvet & amar @1 ifed Icure 39 3w § a1a1 @ wief 39
AT AT | 718 STOIR B aelr=n: i R IR & Sa1ear At A {6t 3aure &t @ile R @ sk agrs@ =
F IR WU 811 BT YTGHT 81, A FH B AT fao g 9o & o) #1g T HIs Ao a=1-1 vt fpeft
T4 9oR # 72 UTEh $1 IR D& (] TeTS o el 31 TS & SR | fay B pat mardl o1 v TS
:%l_grr?h:a;nﬁ?mﬁm%lﬁﬁﬁﬁmmﬁsﬁwﬁﬁmﬁ%ﬁﬁﬁwmﬁwm
R [

ST TR B! UGHR A ID 7Y U $T Sk 9a13¢|
U URd ¥ ford wryrer Wi &1 y=e- 9¢ 1 82

1. T3S X34 3R BRI
2. forsstT ok T8
3. U 3R TR
4, ArAST 3R gU

Correct Answer :-

. O SR Tea

Topic:- General Urdu(L2GU)

1)

jS;,l:ujgd!{T,udLL—-‘@M;TJ.&‘;;*__;L}”Lg,jluflfsfbfﬁflu
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Correct Answer :-
J‘Jbﬁf !
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o 5e|
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Correct Answer :-

. 2
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Correct Answer :-
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Topic:- Mathematics (MAT)

1) Which one of the following statements is true about integer? /
Frafafaa & ¥ F9-a1 $y= ife & ddy ¥ 9@ 72
1. On multiplying any integer with 0, we get1./0 & 1y foat +ff U}ﬁﬁ? ﬁ{[ﬁfﬂ WIIR, gH 1 QTchfEﬁ?IT%I

2. On multiplying any integer with its multiplicative identity, we get 1./ fopadt oft 110ﬁ$ CAReRiED TUMTHD dTHD
F YOI HA R, §H | I g g |

3. For every integer, 0 is the additive inverse. / PCa W & g, 0 t® IS Uldad §

4. On dividing any integer except 0 by its additive inverse, we get -1./0 DI BIeHR Tt ot U;UW CARRESC
IR Tfaam § fauTiord & R, 88 -1 I g o

Correct Answer :-

» On dividing any integer except 0 by its additive inverse, we get -1./0 Pl BIgHR Tt ot U;UTW CARSRIC
ArTere ufaard & fauford Fa R, 88 -1 T giar 3|

2) If an amount of Rs. 1368 is distributed amongst 24 persons, then what is the amount that each
person gets? /

gfe 1368 TUY B Y=RIRT 24 NNl & St faaiva @t 9t 3, O Ud® wafad & fea-t aiXy fesd g2
1. Rs. 122 /1223404

2. Rs.53/53 30T

3. Rs. 153 /153 >0UQ

4. Rs. 57/57%49¢

Correct Answer :-

« Rs.57/57%UQ



3) A figure on a graph sheet covers 12 fully filled squares and 7 half filled squares. Find the total
area. /

TP T e W TH HST 12 T DI GI d¥8 A HIAT 8 3R 7 T b1 31T HIdT 8 | P &A% FId
P

9% 5q units / Q%Eﬁf =0
1. s I

, 13 2 sq units / 13 Z@ef gwrs

, 157 sq units / 15 > aef gaTe
4. 19 sq units/ 19 ?ﬂf%?b"l'sc
Correct Answer :-

15 sq units / 15 - aef gaTe

4) A floor 4 m long and 3 m wide is covered with square tiles of colour blue, green and red. One-
fourth of the floor is covered with blue tiles of side 10 cm. Another one-fourth of floor is covered
with green tile of sides 15 cm. The remaining area is covered with red tile of sides 20 cm. Find the
number of blue and red tiles used. /

4 Hiex @ar 3R 3 WieR disT te w3l i, T 3R a6 T & TER eIsal I H1 g3 31 BRI BT TP T
YT 10 A Tt Yot arad A et A T 531 21 BRI BT UH 37 AATE T 15 I BT Yo a1dt g8 [T Bt
TSl A THT G381 AW & 20 T YoIT aTa a1 T3l | ShT g3 3 1 I e 7Y Hiat 3R ot ergat ot
HST 1 B |
1. Blue = 300, red = 150/

=tel = 300, d1eT = 150
2. Blue =300, red = 200/

= = 300, AT = 200
3. Blue = 150, red = 300/

e = 150, &6 = 300
4. Blue = 150, red =200/

=telm = 150, 9Tel = 200
Correct Answer :-

e Blue =300, red =150/

= = 300, TG = 150



5) Ages of Rahul, Rohan & Ram are 10, 6 and 13 respectively. The sum of their ages will give
Rajeev’s age. Suma is 5 years older than Rajeev. What will be the age of Suma after 3 years? /

G, A 3R IH BT 3ATY HH: 10, 6 3N 13 T 1 ITD! 3ATY BT YN Ieiig St 3ATY 31 JHT, I A 5
a9 St g1 3 quT 91g AT B 31y fpat ghir?

1. 34
2. 30
3. 29

4. 37

Correct Answer :-

6) Another name for Formalism is ./
UU4re (Brfere) & fore o= A gl
1. Abstractionism / \}Ijﬂ\?fﬁﬁw (@@Wﬁﬁm)

2. Deductivism / fesfacfas

3. Logicism / mﬁm GUEIEES)

4. Induction / SSa-M

Correct Answer :-

« Deductivism / fSSfaefasH

=x‘-'_M-'_‘F:'are-Zand-3thenﬂand‘bare:/

qﬁwp(x} =x¥+ax+ bmw_z A -3 %,?ﬁalz'q"b?:

1.5&-6/5Td -6

7) 1f the zeros of the polynomial p(x)

2.5&6/5Td6
3..5&6/-5Td 6

4, 58&-6/-5Td -6

Correct Answer :-

e 5&6/5Td6



8) Which of the following explains the commutative property?/
Frafafaa & 3 si=-ar wafaf g 1o 3 saren w1 22

1. 103+ (25-35)=(103 +25) - 35

2. (atb) = (bta)

3.35-22=(22-35)

4. a(b+c) = ab+ac

Correct Answer :-
e (atb)=(bta)

9) Which one of the following statements is correct about number? /
fFafafed § 9 $H9-91 Sy 4@ & 964y # 9d 872

1. Every number is a factor of one. / TS T Th HI YCh Eﬂ?ﬂ %I

2. 2 is the only odd prime number. / 2 THHT faWHT 31T TRaT B

3. 2 is the smallest prime number. / 2 T BT &W?’@T%I

4, One is a prime number. / 1 T U TBAT %’I

Correct Answer :-

e 2isthe smallest prime number. / 2 I Bidt G{WF@JT%I

10) A frog falls into a well of 12 meter depth. It tries to jump out. Each times it jumps up it jumps as
high as 3 meter but slides down 2 meter because of slippery wall of the well. In how many jumps
will the frog reach out of the well? /

T® Hed 12 Hiex TR TP Hoi ¥ FRa1 1 98 aeR e 9t IR #ar 81 d$ IR 9 I8 Hear ¢ af
g 3 Wex HWR Ugd S1aT § AP Fan & e arell Slar & wrRor 2 Hex 9 g war 81 $¢ F arev
e & R Aes @1 fbat IR Be-1 v2Tm?



1) 1y ALMN 2M=70° and LM=NM. Then 2 N= /

ALMN#H, #M=70°Td LM=NM g, dr 2N=

1 60°
S
2.
Lo
3. 30
4, 70°

12)  Which of the following is not the solution of the equation F;x+5? /

T # & Plerar THFOT y=LatS F o 70T 8
1. (4,19)
2. (-6,-16)
3. (-12,-37)
4. (-8,23)

Correct Answer :-

Ifz+%=ﬂandax—hy=az— b? thenx &y =2/
'ﬂﬁg—l—%=ﬂt’fx_’ax—by=az— b2g, ar xTdy =7

_ala®+b*) bla*+1b7)

1 = a-h2 = a-h?
al_iaz—szl blzbl— E.Ej
K: =
) at+hb® ¥ a+ b*

3. x= a(a?+b?), y = b(a®-b?)



4. x=a, y=b
Correct Answer :-

al_iaz—bz:l blihz— az:l
X: premm— =
at+hb? ¥ al+ b*

14) Ifx —|—§= 2 then the value of x —iis:.-'

A x+-=28, a x—- & A &

15)
Find the number of line segments required to make a honev comb structure with 20

compartments arranged linearly? /

s w7 & gaffug 20 #1371 arel Te AYFER G @9 & AT EEd
(EEsT T &g AT F:?

1. 100
2. 105
3. 101

4. 120

Correct Answer :-



16) r ”q and [ be the transversal. »~1=61° then »2=7/

p |l @ 1vw e Yar g1 21=61° &, dr £2=2

; I >
e »
Iz
1. 61°
5 118
3. IS
4 119

Correct Answer :-

17)  In a parallelogram ABCD if ~CDB=45° and ~DAB=65%, then ~CBD =7 /
UF TAFGY adeel ABCD#, Ifg 2cDB=45° 3R ~DAB=65°%.d" £CBD =2

. 60°
, 45
5 B
, 10°

Correct Answer :-

70e



A number ‘a’ divides 1320 and 781 exactly. Given a=1, then the number “a’ is not a factor of

#
TF HEAT ‘27 1320 3R 781 F1 qUiar faanfaa wdr 81 a1 e mam §,a ' o

__ @ g&h 6T ol
1. 2101

2. Itself / ¥94

3.539

4. 125

Correct Answer :-

e 125

19) Ina triangle ABC if # CAB=70°, and AB=AC then #B and »~C are /
u& T3 ABCH. I 2CAB=70° 3{R AB=AC®, ar B3R .C¥:

80°, 80°
1.

550, 80°
2.

35°. 330
3. 357,55

o o
4 20°.80

Correct Answer :-

20) [p2Ete_Zg Jafe 2x+6_ -2 %. T x=

=9 3 3—9% 3

1.2

2.1

3.3

4.4

Correct Answer :-



21) Choose the number divisible by 9. /
9 A faurfora g1 areft e &1 9a o3|
1. 9987123
2. 3425816
3. 6789548

4. 4536279

Correct Answer :-

e 4536279

22) Find the value of m, if one zero of the polynomial (m? +4)x? + 65x +4m g ype reciprocal of the
other: /

afy ggug (M* + 9% + 65x +4m 551 gops IRIF 3T BT YEHH 2, A m T A G BY:
1. V2
2.3

3.1

4. 2

Correct Answer :-

— a3 2 _ _
23) Eind the value of m if (x-1) is a factor of P¥) = *° +6x% —2x — 5m.

qﬁ_p(x} =x? +6x%—2x— "M BT ¥ (x-1) B, & m BT A T B
1.-2
2.-1
3.2

4.1

Correct Answer :-



24) Find the whole numbers. / EUf'\‘T@T STd B

16 x 8725 x 625
1. 87,389,600
2. 87,250,000
3. 83,760,000

4. 87,110,000

Correct Answer :-

» 87,250,000

25) James is inside an aeroplane flying at a height of 7000 meter above the sea which is below sea

level at a level. At a particular point, it is exactly above a submarine depth of 1/ 6t the height of
plane. What is the vertical distance between James and the submarine? /

ST U gaIgoIgTe & 3ieR ¢ ol U4 ad | 7000 HieX 3t $415 R 3§ ¥61 31 T faxiv fig v, 9@
TP TIgsl & 1 HUR 3 Ol gaIsolers & 1/6 HaTs fora-T GYg add & e g1 IR Ud UIgsl &
A SHeaitR gt fpa-t 82

1. 8333.33 meter / 8333.33 Hlex

2. 9166.66 meter / 9166.66 HieX

3. 9333.33 meter/9333.33 Hiex

4. 8166.66 meter / 8166.66 HIeX

Correct Answer :-

o 8166.66 meter / 8166.66 HIX

26) Anil is 6 years older than Akhil. Akhil is 36 months younger than Vijay. If Vijay’s age is taken as
y, then age of Anil is: /

3fra g H e ¥ 6 af we1 31 e 3y o faora A 36 WA Sier 21 afe fasa # sy y & Tu A ot
STt B, <t erfre &Y ey 3:

1. 6(y-36)
2. 6+(y-3)
3. 6+(y-36)
4. (y+6)

Correct Answer :-



27) If 76x — 189y = -37 & -189x + 76y = -302, then find the value of x and y. /
Ife 76x — 189y = -37 UG -189x + 76y = -302 §, @ x T y & HIF JId BI |
1.x=-2,y=-1

2.x=-2,y=1

3.x=2,y=1

4. x=2,y=-1

Correct Answer :-

28) ‘Mahabhaskariya’ an astronomical work completed in eighteenth century is written by: /
HRETYRS’ 3oRed! Wt § qul fsar mar ue @ity orf @ Rt ERT foram T 31
1. Aryabhata - 11 / &rrtfll'g' -1

2. Sridhara / R

3. Bhaskar Acharya / HIRGHR 3TARI
4. Ramanujan / XTHIJSIT

Correct Answer :-

» Bhaskar Acharya / HIRXhX 3

29) are related to growing plants. /
ded NeY & Hafta g1
1. Natural numbers /W =AY

2. Real numbers / GRS IBEE H{%IQ

3. Fibonacci numbers / WW
4. Rational numbers / WW

Correct Answer :-

« Fibonacci numbers /WW



30) The length and breadth of a cuboid is 12 cm and 9 cm respectively. If the total surface area of
the cuboid is 678 cm? , then the height of the cuboid is: /

g:gwaﬁmaﬁﬁﬁmém: 12 3t 3R 9 At B1 A Ty &1 o yPiy AFwd 678 A2 ], o wATY F

1. 15cm/ 15 3+
2. 11cm/ 11 9#
3.6 cm/ 69

4,21 cm/21 9Ht

Correct Answer :-

e 11cm/ 11 3t

31) The sequence of steps for mathematical modelling is:
1) Understand the problem.

2) Mathematical description and formulation.

3) Solving mathematical problem.

4) Interpreting the problem and validating.

/ Tfvrd ufeReuur (wisfenT) & fore =Rl &1 3w 8:
1) UY/IHSTd S HSHTI

2) Tifordia faavor iR 3w

3) TR U/ FHRTS BT JHTUTH BT

4) VY /AT &1 TRT HIAT 3R T AT
1.3,2,1,4

2.1,4,3,2

3.2,1,3,4

4.1,2,34

Correct Answer :-

32) The main body of the lesson plan is based on the Herbartian principle of: /

TS GISHT BT G-I U & ga¢ Rrsia W snutRa 31

1. Presentation / mﬁl
2. Conclusion / frpy

3. Introduction / uf=yg



4, Association & Generalization / Y 3R RIS

Correct Answer :-

e Association & Generalization / Y 3R IHRAHR

.3 2 N 2 .
33) simplify:- 397°(50y% —98) + 26y*(Sy +7y ,

APy 393 (50y? —98) + 26y*(5y + ?)
1. 2y(5y-7)
2. 3y(5y+7)

3. 3Gy =7

4 2y(5y +7)

Correct Answer :-

. Gy -7)

34) Two triangles ABC and DEF are similar and the ratio of their areas is 25:9, then the ratio of their
corresponding sides is i

&l fAYS ABC Ud DEF TUEY § 9UT 3% &TEd $T JUTd 25:9 7, dl IS TId YeI13if &7 Srgurd
gl

1. 4:5
2. 53
3. 3:5

4, 54

Correct Answer :-

35) If mean and mode of a data are 11 and 8 respectively, then median=__ ./
Tfe TP SHST & ATEH 3R IgP HUT: 11 AUT$ T, A AfADBTI=_ 71

1. 10

2. 11

3.8



4. 12

Correct Answer :-

« 10

36) In a parallelogram ABCD, DC = 16 cm. If the altitude corresponding to the sides AB and
AD are respectively 8 cm and 10 cm, then AD=___ ./

TH GHHIR ag4sT ABCD #, DC = 16 It 31 9fe TG YSIE AB GUT AD B SaTS HHT: 8 T qUT
1083, TAD=___ |

1. 16 cm/ 16 94t
2.12.5 cm/ 12.5 9T
3. 12 cm/ 12 94
4.12.8 cm / 12.8 Tt

Correct Answer :-

e 12.8 cm/12.8 QHt

37) The mean of 25 observations is 36. If the mean of the first 13 observations is 32 and that of

the last 13 observations is 39, the 13™h observation is : /

25 W&{UTY T HTH 36 &1 TfS UgH 13 USTUN T HTEH 32 U 3ifaH 13 W&0if o7 A1 39 8, oY 1397 V&T &:
1.22

2.25

3.26

4,23

Correct Answer :-

38) What is the ratio in which the join of A(-4,3) and B(2,-6) divided by the y-axis? /
98 3uTd R 8, Forad fig A(-4,3) TE B(2,-6) B firam= areft ¥ y-aref gy faurfora gidt 82
1. 1:4

2.2:1



3.1:2

4. 4:1

Correct Answer :-
o 2:1

39) Construction of altars for the sacrifice, applying geometrical facts to perform duties by fixing east-
west was assigned to the ./

afere™ & fore afeat &1 fAator s, gd- ufi ) RR $3d gu ol ot @1 w34 & fore sarfinda
T} B AR B BT B, DI FIT TT T

1. Sulbhakars / Jedh
2. Aryabhatta / \’rﬂﬁ'l-@

3. Bhaskara / HIRhX
4. Brahmagupta / STel{[tWd

Correct Answer :-

+ Sulbhakars / gedlh

40) Three cubes each of edge 4 cm are joined end to end horizontally, then the lateral surface area of the
resulting cuboid is: /

4 I fHRY arat 9 w=1 o1 sifow g @faet 0 @ 93 gu 8, af uRomdt gy &1 uref gl erwa @:
1. 120 cm?/ 120 Q12

2. 150 cm? / 150 S¥2

3. 128 cm?/ 128 T2

4. 95 cm? /95 Y2

Correct Answer :-

e 128 cm?/ 128 Q2

41) Which of the following is an example of a cubic polynomial? /
fFrafafad & ¥ #1991 99 9gUe 1 UH eI 8?

1. x°+x3



2. X%+x
3. x3+x
4, x4 4x3

Correct Answer :-

42) describes steps or a set of do’s and don’ts to a method or strategy. /

T fafy a1 Torifa & aRon a1 Jei & == Ta A8 B BT quiF HRa1 B
1. Technique / AP

2. Tactics / gfad

3. Method / fafg

4. Approach / 3UNTH

Correct Answer :-

« Technique / dP-Idh

43) The respective positions of three friends A, B and C are (3, 2), (6, 5) and (9, 8) respectively. What
does the three points joined together make? /

T St A, B TF C F Tafta I HHI: (3, 2), (6, 5) 3R (9, 8) &1 N1 farg v 1y forare aam a7t 32
1. An obtuse angled triangle / T 31RO Ay

2. A line segment / T W1 TS

3. An equilateral triangle / T JHTg Y

4. A right angled triangle / Teb JH&IU YW

Correct Answer :-

« Aline segment / & AT TS

44) One among the below does not belong to creative behaviours and that action verb is .
1 # & T3 YaeTe AaeR @ e 81 v@dl § iR a8 e faa g

1. reconstruct / Q:TﬁTﬁUT

2. design / i

3. compare / -l



4, alter / gfada

Correct Answer :-

» compare / Il

45) The radius of a circle whose circumference is equal to the sum of the circumference of the two
circles of diameters 36 cm and 20 cm is ./

trguai e B, et ultfir 36 it aur 20 Sft o a3 g9 S RS @ S Rew R
1. 56
2. 24
3. 28

4. 14

Correct Answer :-

46) The major aim of mathematics education is: /

TIfora fR1em &1 U SERA B
1. Preparing for competitive exams /WW&‘”@[%WWW
2. Mathematisation of the child's thought process / e 1 [dIR UfdhdT &1 0Tl

3. Solving problems / U%ﬁﬁw

4. Improving computational skills / STOTATH® GANIY f[ﬁ‘éﬂ?m

Correct Answer :-

« Mathematisation of the child's thought process /ﬁﬁwmmﬂﬁﬁﬂw

47) ‘Micro teaching is a scaled down teaching encounter in class size and class time’
was stated by: /

HTSsh) FRAIEIUT, H&T P ATPR 3N &1 P THY § Riaror wod F a1 @, 39
S ERISEITAIl

1. Piaget /ﬁI'CI'I@[



2. DW. Allen / S1. 8o, T
3. Gagne /ﬁ%{

4. Bruner / -}

Correct Answer :-

. D.W. Allen /33[3@ Qa:[

48) Which of the following is considered as the most suitable approach in mathematics curriculum
organization? /

fFrafiafaa & & f5a it ureush oraw & Ja Suged TR ® 01 W7 o 32
1. Psychological /W
2. Topical RIEIRED

3. Unitary / UhTHD
4. Spiral / gftq

Correct Answer :-

e Spiral / gfta

49) Which of the following is related with Cognitive Domain? /
frafafea & @ 1 Sarrs 87 4 Wdfia g2

1. Valuing / Hgd il

2. Applying / eI AT

3. Receiving / g U [

4. Responding / gfaferar &

Correct Answer :-

» Applying / AT AT

50) Which of the following aim of teaching mathematics help the individual to become self-
reliant and independent? /

o ve™ & fAufafaa Stxal # @ 19 91 Sexy, afe &) smafR ok wWag a7 |
GG HRaT 8?2



1. Disciplinary / IR AIHD
2. Utilitarian / ST

3. Cultural / W
4. Social / TTHIIISG

Correct Answer :-

« Disciplinary / 3{JRUMHAIHD

51) Item analysis is a quality assessment strategy to prepare ./
we fazayor TR 1 & FIT T Uit geaie- o 2

1. Question bank / U4 CCg

2. Evaluation / Jedih
3. Examination / L ritall

4, Student performance / EIERC AT

Correct Answer :-

« Question bank / UY §&

52) CANCELLED

If the radius and height of a cylinder are in the ratio 5:7 and its volume is 550 cubic m, then its
radius is ./

u%wﬁa;aﬁﬁmaw”mﬁwmsn%‘awmm550‘a=r1ﬂa%,a‘rsﬂﬁﬁm
|

1. 6cm/6TH
2. 7cm/7 9w
3. S5cm/5 99

4, 4.5 cm /4.5 9w

Correct Answer :-

53) CANCELLED



Three-dimensional topology is a branch in mathematics which is more related with

v

%ﬁq&mmﬁr(aﬁﬁvﬁ)ﬂfbﬁﬁww%a‘r 3 3iftrep defea
|

1. Biotechnology /ﬁﬁtﬁ?ﬁﬁaﬁ
2. Economics / Rl

3. Chemistry / 3T fagmA

4. Physics / Hifae fasim

Correct Answer :-

« Physics / ifaw fagme

54) CANCELLED

The equation of line passing through (2,3) and parallel to x-axisis ./
SAIDT BB B, S (2,3) | BIPR oIl & 9T x-318 & U 8
1 X= 2

5 X =2

3.V =3

4 7="3

55) CANCELLED

If the sum and product of whose zeroes are 2 and —E . then the quadratic polvnomial is B

afe AT 3R 38F YeIHT T IO EUE;—E%:HT@WHE@E 21

1 SxZ —10x — 3
2. SxZ+10x +3

3. SxZ+10x —3



4.x2—1[]x+3

Correct Answer :-

ox?—10x —3

56) CANCELLED

The angle which is 24° less than its complement is: /

dg FIOT ST 39 GARE A 24° FF ¢

57) CANCELLED

Area of a quadrilateral ABCD is 35 CIM" The length of the perpendiculars on its diagonal BD from A
and D are 3 cm and 4 cm respectively. Find the length BD. /

TgYs ABCD &7 &% 35 A2 g1 A 3R D A 39S fawvf BD W &9 Ft dars wu=n: 3 At ek 4
I+ 81 BD &) waTS F1d B

1. 10 cm/ 10 9+t
2.15cm/ 159+t
3.25 cm /25 94t

4.12 cm/ 12 9#t

Correct Answer :-

e 10cm/ 10 3=

58) Express 486 as a product of powers of prime factors. /



486 P JUTSY U] & °Td & UHGA & & § Tad He |
1.3°

2.12x 53

3.21x 3°

4.53 %2

Correct Answer :-

o 21 x 33

59) Jeevan fills a wall in his room with the photos he took. The size of a photo is 21 cm by 18 cm. If
he uses 6 photos, then what is the area of the wall? /

S 9 U1 R $I TH AR & W4 gRT S T3 TR 9 WR 311 T a5 iR &7 SR 21 I+ x
18 9 21 afe a8 6 IR &1 IUANT H=aT 8, At AR &1 &TFd frar 82

1. 2068 sq cm /2068 it
2.2268 sq cm /2268 it
3.378 sq cm /378 T et

4. 2334 sq cm / 2334 T

Correct Answer :-

. 2268 sq cm /2268 TIIH

60) y¢x’ —3x+ 24¢ 4 factor ofx‘}_m:2 9 then find the value of ” and 7' /
afe TP H A grges *0 — 34+ 2 G P ok T 1w e R

1.p=51q =4

2.p=4,q =3

3.p=2,q =1

4.p=3Jq=2

Correct Answer :-



